section 3.1 b.notebook September 05, 2019

Warm-Up Ceptember 5,2019

1.Convert the following into decimals:

A. R ~u B 3
5
“Ratvone, 4= Bl
2. Circle the larger number in each pair:

A. or -9.2 B. 3.2 or 3..i'

‘(u3 or 59\. 3QO ¢
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What is the difference between
a ratiohal number ahd an
Irrgtiohal numbper?
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1. Identify the rational numbers.

5 3
17 = -3.606 3 -8=
b) -0.2 912 0 ) 7.1234...
0 4
2. Write the opposite of each rational number.
a) 9 b) —% c) -17.6

d) 612 e) 401 f) —?%
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Classify each number below. Put a checkmark in the category that applies to the given number.

Natural Whole Integers | Rational | Irrational
1) 0.8 L
) -2 -03 L
3) VA0 = (329, L~

4}v'ﬁ=<? L/ (/ l/
5525 0.3

6) 0.35

L
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v
— S
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4

8) -9 L/
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Directions: For each number shown, classify it as either rational or irrational, then tell whether or not it is

terminating or repeating.

circle one)
11) -0.6 @ or irrational
12) V100 —|O or irrational
13) % -0. or irrational

2 N
14) - =-0( or irrational
15) 0.35217534 .. rational or

rcle one)
reeat]n or neither
repeating, or neither
repeat]ng, or neither
terminating, or neither
terminating, repeating, 0
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16)

17)

18)

18)

Which of the following is equivalent to g ?

a) 0.3 b) 0.45 c) 0.6

Which of the following numbers is irrational?

a) 0.252525.. b) 0.875 @ 0.3754152...

Which of the following numbers is rational?

LB () VR
4

Which of the following numbers is a terminating decimal?

September 05, 2019

@0.375

d)-0.121212...

d) -0.125374-...

d) 0.81818181...

4L -1 5L -3

-3.0 2372
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Place the numbers on the number line below.

22) 35 23).3.7 24) 4.8 25) 3.05
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Compare —%, 1.7, -0.6, 1%, and -0.6. Write the numbers in ascending

order.

10
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